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Task 1. Choose one of the options to fill in the gaps

1. Since last year the sales have increased __ 5%. *

by

at

O O OO

on
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2. The biggest segment of the pie chartindicates the ____ of the students aged 18. *

O percentage

(O percent

(O amount fi

O gure

3. The __in the bottom right corner shows which colour represents which age  *
group.

(O figures
(O percent
O graph

O key

4. If you look at the pie chart, you will see that the number of students aged over *
25___ foronly 3%.

accounts
amounts

totals

O O OO

reaches

/ OTnpaBuTb 3anpoc
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(O second

6. we can see that the activity is increasing, we haven't yet reached the *
desired goals.

(O Therefore

O Despite
(O Although

(O Nevertheless

7. Last year more than 1000 students ___ our University. *

O have entered

O entered

O was entered

O has entered

/ OTnpaBuTb 3anpoc
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8. More than three quarters of our students ___aplane. *

O have never flew
O never flew

O never flies

O

have never flown

9. Unfortunately, the students’ grades have slightly ____. *

O hit a low
O plunged

(O declined

(O rocketed

10. In July the figures ____ the record level of 15%. *

(O have reached
reaches

reached

was reached

O O O

11. Fifteen American states have the minimum sales age for tobacco to 21. *

O risen
O raised

O rse / OTnpaBuTb 3anpoc
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12. Global average life expectancy ____ by 5.5 years between 2000 and 2016. *
O have risen
rise

raised

O O O

rose

13. Cyber attacks can potentially ____ a number of different types of losses. *

O

result

cause

result from

lead

O O O

14. In software, failure occurs __ bugs or errors that get introduced during the *
design and development process.

/ OTnpaBuTb 3anpoc
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15. Italy has seen ___ in its e-commerce industry over the last couple of years. *

significantly growth
significant growth

grow significantly

O O OO0

grow significant

Task 2. 16. Choose all items that mean UPWARD movement

<
[0
"

Increase

fluctuate

grow

decline

recover

clim b
plunge
double

O O O O O O O O
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17. Choose all items that mean DOWNWARD movement

<
]
w

decrease

decline

ffuctuate

plunge

recover

slum p

expand

O O O O O O O O

reduce
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Task 3. Analyse the charts and the text below. Fill in the gaps in the text with the
NUMBER of the word or expression given after the text.

,

Cisé 13.72

|

Perl

Wislal Basic 1057
PHP 10.50

-
Delphi 5.78

~ Popular
: ! Programming
o ~¥ Languages

_ 2
=B 2000 Q1

F‘}-thl}nl- ] 2427

.

23.18

JavaSeript

Java 12,39

Lol ]

Swift

Objective C 347 : ! 0 1 9 3
Katlin 164

letus now  {18)  another point which is the populanty of the programming languages.
This side shows how the ratings of the top 11 languages have changed  {(19) 2000
Overal, i 1s evident that users’ preferences have altered . {(20)

if we look at the highest rankers, we can see that 20 years ago the only incontestable leader
was programming language C . 21]  over 3%, (22)  today is popularity
constiites a Ble more than 5% 23) |, nowadays there are three forwards with aimost
the same hgures — around 22-24%_ It is interestng to note that the favounte today is the
language  {24) ., which didn’t even enter the top kst badk in 2000 Remarkable also is that
Java and JavaSapt steadly follow the leader, yet they have changed ther places m the
ramg One can also note that the populanty of (Jthas _ {(?5)  from the last place m 2000
with nearly 4% to the forth place today, butonly  {26)  less than 5%. Al the same time,
the use of C++ hasalmost  {Z7)  dunng this penod and is now only about 6.5%.

It is also worth noling that some of the languages, such as Perl Visual Basic, Delphior
Pascal, which were relatively popular at the beginning of the 21® century, have  {28)
disappeared from the rating m 2019

To condude, the IT sphere has seen  {29) dhanges in the last 20 years and is unlkely
to stop evolving ~ {30)  to be compelitive in this ever evolvingheld, onehastobea
constant leamer.

i |
-
o
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1 — totally; 2 — whereas; 3 — by contrast; 4 — dramatically; 5 — with; 6 — that is why;
7 - risen; 8 — since; 9 — Python; 10 — turn to; 11 — significant; 12 — by; 13 — halved

Gap 18.*

MonoTtBeT

examine

Gap 19.*

MonoTtBeT

since

Gap20.*
MownoTBeTt

significantly

Gap21.*
Mon oTBeT

accounted

Gap 22.*

MonoTtBseT

whereas

Gap23.*

MonoTtBeT

respectively

/ OTnpaBuTb 3anpoc

https://docs.g oogle.com/forms/d/1XB36cMauaijltU QiM 5x6KKx-n393otwb_dj3QcmPNiANiewform?edit_requested=true#responses 914



02.03.2023, 19:33

Gap 24.*

MonoTtBeT

Python

Gap 25.*

MonoTtBeT

risen

Gap 26.*

MonoTtBeT

slightly

Gap 27.*

MonoTtBeT

halved

Gap28.*

MownoTBeT

completely

Gap29.*

MownoTBeTt

significant

Gap 30.*

MonoTtBeT

In order to

Presentation Unit 4 Final

/ OTnpaBuTb 3anpoc

https://docs.g oogle.com/forms/d/1XB36cMauaijltU QiM 5x6KKx-n393otwb_dj3QcmPNiANiewform?edit_requested=true#responses

10/14



02.03.2023, 19:33 Presentation Unit 4 Final

Task 4. Have a look at the following graph

Vaolume

L

Pressure

31. Choose one of the options that describes the graph *

O A decrease in container volume increases gas pressure.
O Increase in volume produces increase in pressure.
O An increase in temperature of a gas in a rigid container increases the pressure.

O The bigger the volume of a container. the higher the pressure.

Task 5. Analyse the following diagram

S 5 8
8 8 8

=
2

u Men
= Women

Humber of students sludying engineering
:

2012

/ OTnpasuTb 3anpoc
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32. Choose options that are TRUE for the diagram

TRUE

Men continue to make up the majority of TRyUE O
students.

The proportion of female students
increased significantly.

TRUE

The number of female students grew
steadily by 1000 each year.

The number of female students quadrupled
in 20 years.

In 2002 there were 3 times as many male
TRUE

students as female students.

There was a dramatic decrease in the

number of men studying engineering.

o O o o O

Task 6. Follow the link and complete the task after listening

https://drive.google.com/file/d/1CQpdSwPCJZxH_3XiMnfsBoHQdGbZuySc/view?
usp=sharing

/ OTnpaBuTb 3anpoc
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Do the following statements agree with the information in the audio? *

The man talks about his
company’s sales in three FALSE
years

The sales are falling TRUE

He suggests looking at the
third graph FALSE

The market share

decreased by two percent FALSE
The lady presents some TRUE
slides

She illustrates a bad
example of communication FALSE
process

Some research has been
done recently

TRUE

Good communication is
. : TRUE
important to motivate staff

Thanks for your answers. Good luck

TRUE

O

O OO O O O O O

Hukorpa He ucnonb3yiTte popmbl Google Ana nepefayu naposneii.

FALSE

O

O OO O O O O O

Ouunctutb popmy

KomnaHusa Google HE UMEeET HUKAKOIro OTHOLUEHUA K 3TOMY KOHTEHTY. CoobuleHune 0 HapyLleHnn - Ycnoeus

MCrnoib30BaHus - [oanTuka KOHGUAEHLMaIbHOCTY

Google ®opmbi
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